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Rkt A = 33,056 | VAT (B 1) 80 m2
T i S O I BRI
P v T = 22, 470
IR = 3, 847, 880
fliAE T = 32,880 | FET-HAH 80 m2
AEEHE L 100m2 470 ;
BT = 3,815,000 | {8 5 KA {54 250 m2
1500 X 1500 ;
EEET 2 26, 124, 027
e+ T 2 3, 285, 635
fisR T 2 11,506, 315 |V #7¥APAVBE [ AFHAST « 3% 265 m2
SRy b
VAT A VIR 1,821 m2
FEHL -HBHL, MED 1, 000 m3
PREL R 4 1 X
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R VIV ¢ 150 Pk B ALE
HEKE R 39 m
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AR 50 m
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[ERAE Xy = 1 36, 984, 568
HiE 2 2 1 4, 530, 000
BISTIGE: = 1 440, 000
BGRESCGES (5 1) = 1 440, 000
B (FEHL) = 1 4,090, 000
T = 1 41, 514, 568
Bl gy 2 1 13, 566, 000
T =5l = 1 66, 879, 283
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EEEET = 1 14, 020
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TR e gL 2V 3, 106, 000
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